
N C JINDAL PUBLIC SCHOOL 
MATHEMATICS ASSIGNMENT (CLASS VI) 

CHAPTER‐6: INTEGER 
1.    Write the opposite of the following: 

        a) Spending Rs. 700                           b) 2 years after                       c) going north 

2. FILL in the blanks: 

     a) Sum of an integer and its additive inverse is always equal to ‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐. 

     b) A negative integer is always _______than 0. 

      c)  The _______integer is its own opposite/additive inverse. 

 3. Write the successor &predecessor of each of the following: 

      a) ‐35   b) ‐501     c)‐199     d)‐300 

4.  Fill in the blanks by appropriate symbol > or < : 

      a)‐14 __‐8         b)‐430 __‐330       c)‐10 __ 0 

5.  Write all integers between  

     a)‐5 &1    b)‐4 &4   c)‐5 & ‐11 

6.  Write the integer:   a) 7 less than ‐2       b) 5 more than‐6 

7.  Find the sum:  

      a) 150 &‐125              b)‐1, 36 & ‐95          c) – 1020, ‐327 & 890       d) 125 & ‐215 

8.   Subtract: 

       a) ‐832 from237        b) 19 from ‐19     c)‐15 from ‐25 

9.   Find the value: 

     a) ‐16 – (‐14) +25      b)‐21 + (‐9 ) + 53 + (‐33 ) – (‐ 14 ) 

     c) ‐30 + (‐ 120) ‐ (‐150) + ( ‐ 150 ) – 300 

10.    From the sum of ‐15 and ‐ 54, subtract – 63 

11.    Raju deposited Rs.5500 in his account on Monday & the withdraw Rs.3850 on Tuesday .Next week he again 
deposited Rs.1285. What was his balance in account? 
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